@ gﬂ @ Negatiiviset eksponentit 10

Nimi: Paivamadra: _ Pisteet:

1070 = 1003 =

490, 4 x 1071 = 872,1+10"% =
3x10° = 8 x 10 =

699, 1+ 1002 = 43,5 x 1009 =
1002 = 3 x 1002 =

784 x 100" = 827,7+ 1077 =
&x10= 2 x 1003 =
1002 = 5% 10 =

247,7 x 1079 = 1072 =

363 x 107 = 1073 =
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@ % @ Negatiiviset eksponentit 10

Nimi: Paivamaara: _ Pisteet:
1077 = 0.1 107 = 0.001
490, 4 x 107" = 49.04 872, 1+ 107% = 8721000
3 x 10% =300 8 x 10 =80
699, 1+ 107 = 69910 443,5 % 1077 = 0.4435
107% = 0.01 3x 1072 =0.03
784 x 1001 = 78 4 827,7+ 1072 = 82770
8 x 10 = 80 2 x 1077 = 0.002
1072 = 0.01 5% 10 =50
247,7 x 107 = 0.02477 1072 = 0.01
363 x 107 = 0.363 107% = 0.001
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